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0 00%| 0 00%| 0 0.0% 1 16% | 1 1.3% 1 15% ] 0 0.0% 3
0 00% | 1 2.0% 1 1.8% 1 16% | 1 1.3% 1 15% ] 0 0.0% 5
0 00%| 0 00%| 0 00%| 0 00%| 0 0.0% 1 15% ] 0 0.0% 1
0 00%]| 1 20%] 0 00%| 0 00%] 1 1.3% 0 00%| 0 0.0% 2
0 00%]| 0 00%| 0 00%| 0 00%| 0 0.0% 0 00%| 0 0.0% 0
0 00% ] 1 20%] 0 00%] 0 00%| 0 0.0% 0 00%| 1 2.0% 2
0 00%| 0 0.0% 1 18% (| 0 00% | 2 2.6% 1 15% ] 0 0.0% 4
0 00%| 0 00%| 0 0.0% 1 16% | 0 0.0% 0 00%| 0 0.0% 1
0 00%| 0 0.0% | 4 1% 0 00% | 0 0.0% 1 15% ] 2 4.1% 7
25 100% | 50 100% | 56 100% | 61 100% | 78 100% | 67 100% | 49 100% 386
— — > L-
11 | 44.0% | 23 | 46.0%| 20 | 35.7%(| 20 | 32.8%| 37 47.4% | 39 | 58.2%| 20 | 40.8% 170
3 12.0%| 6 12.0%| 6 10.7%| 7 11.5%| 11 141%| 4 6.0% | 8 16.3% 45
5 200%| 7 140%| 1 1.8% 5 8.2% 6 7.7% 4 6.0% 3 6.1% 31
1 4.0% 4 80% | 9 16.1%| 13 | 21.3%| 9 11.5%| 3 45% | 7 14.3% 46
20 | 80.0% | 40 | 80.0%| 36 [ 643%| 45 [ 738%| 63 80.7%| 50 | 74.7%| 38 78% 292
v > L—
1 12.5%| 6 20.0%| 7 10.8%| 9 141%| 7 11.5%| 5 12.8% 35
1 12.5%| 3 10.0%| 4 62% | 3 47% | 4 6.6% | 1 2.6% 16
1 12.5%| 2 6.7% | 8 12.3%| 5 78% | 2 33%| 3 7.7% 21
2 25.0%| 1 33%| 5 77% | 5 78% | 5 82%| 5 12.8% 23
1 12.5%| 2 6.7% | 4 62% | 3 47% | 3 49% | 2 5.1% 15
0 00% | 1 33% | 7 108%| 8 125%| 5 82% | 6 15.4% 217
0 00%| 2 6.7% | 6 92% | 6 94% | 3 49% | 2 5.1% 19
0 00%| 1 33%| 2 31%| 5 78% | 6 98% | 4 10.3% 18
1 12.5%| 2 6.7%| 4 62%| 3 47% | 5 82%| 1 2.6% 16
1 12.5%| 2 6.7%| 6 92% | 4 63% | 3 49% | 3 1.7% 19
0 00%| 1 33% [ 3 46% | 4 63%| 5 82% | 2 5.1% 15
0 00%| 3 10.0%| 2 31% | 2 31% [ 4 66% | 0 0.0% 11
0 00%| 1 33%| 4 62%| 0 00% | 2 33%| 2 5.1% 9
0 00%] 1 33%| 0 00%| 3 47% | 3 49% | 0 0.0% 7
0 00%| 0 00%| 2 31% | 2 31% | 1 16% | 0 0.0% 5
0 | o00%| 2 [ 67%| 1 | 15%] 0 | 00%| 0 | 00%] 2 | 51% 5
0 00%| 0 00%| 0 00%| 1 16% | 2 33%| 0 0.0% 3
0 00%| 0 00%| 0 00%| 0 00% | 0 00%| 1 2.6% 1
0 00%] 0 00%] 0 00%] 1 16% | 1 16%] 0 0.0% 2
8 1 100%] 30 | 100%] 65 | 100%] 64 | 100%] 61 | 100%] 39 | 100%] 267
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I 280 7 UW0% | 7 25% | 23 A% 2 33% | 12 179% | 19 38.8% 101
0 0.0% 1 2.0% 0 0.0% 0 0.0% 0 0.0% 0 0.0% 0 0.0% 1
0 0.0% 1 2.0% 5 8.9% 3 4.9% 0 00% | 11 164% | 1 2.0% 21
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13 | 520% | 26 | 52.0% | 38 | 67.9% | 29 | 475% | 38 | 48.7% [ 36 | 53.7% | 23 | 46.9% | 203

7| 280% ) 11 ] 22.0% | 11 | 196% | 5 82% | 16 | 205% | 10 | 149% | 6 [ 12.2% 66

0 | 00% | 1 200 | 1 | 18% | 1 16% | 0 [ 00% | 0 | 00% | 2 | 41% 5

0 | 00% | 0 ] 00% | 1 [ 18% | 1 16% | 2 26% | 0 [ 00% | 2 | 41% b

0 | 00% | 0 ] 00% | 0 [ 00% |1 16% | 0 [ 00% | 1 | 15% | 0 | 0.0% 2

0 | 00% | 1 20% ] 0 | 0.0% | 0 0.0% | 1 13% | 0 [ 00% | 0 | 00% 2

1 [ 40% | 4 80% | 2 | 36% | 5 82% | 8 | 103% [ 3 | 45% | 2 | 4l% 25

0 | 00% | 1 20 ] 0 | 0.0% | 1 16% | 1 13% | 0 [ 00% | 0 | 00% 3

0 | 00% | 0 ] 00% | 0 [ 00% |0 00% | 0 | 00% [ 0 | 00% | 0 [ 0.0% 0

0 | 00% | 0 ] 00% | 0 [ 00% |0 0.0% | 0 | 00% [ 0 | 00% | 0 | 0.0% 0

0 | 00% | 0 ] 00% | 0 [ 00% |0 00% | 0 | 00% [ 1 | 15% | 0 | 0.0% |

0 | 00% | 0 ] 00% | O | 00% | 9 | 148% | 10 | 128% [ 5 | 75% | 6 | 12.2% 3

0 | 00% | 0 ] 00% | 0 [ 00% |0 00% | 0 | 00% [ 0 | 00% | 1 | 2.0% |

0 | 00% | 0 ] 00% | 1 [ 18% | 1 16% | 0 [ 00% | 2 | 30% | 1 | 2.0% 5

1 [ 40% | 0 | 00% [ 0] 00% 3 49% | 1 13% | 3 [ 45% | 4 | 82% 12

3 | 120%) 6 | 12.0% | 0 [ 00% | 1 16% | 1 13% | 0 [ 00% | 0 | 00% 1

0 | 00% 1 0 ] 00% | 2 | 36% | 4 6.6% | 0 | 00% [ 6 | 90% | 2 | 4l% 14

25 | 100% | 50 | 100% | 56 | 100% | 61 | 100% | 78 | 100.1% | 67 [ 100% | 49 | 100% | 384
v

5 | 625% | 24 | 80.0% | 46 | 70.8% | 42 | 656% | 40 | 655% | 22 | S64% | 179

2 | 250% | 5 ] 167% | 13 ] 200% | 12 | 188% | 14| 230% | 14 | 359% 60

0 | 00% | 0] 00% [0 0.0% | 0 | 00% [ 0] 00% | 0 | 0.0% 0

L] 125% [ 0] 00% [ 0 0.0% | 0 | 00% [ 0] 00% | 0 | 0.0% 1

0 | 00% | 0] 00% |0 0.0% | 0 | 00% [ 0] 00% | 0 | 0.0% 0

0 | 00% | 0] 00% |0 0.0% | 1 16% | 0 [ 00% | 0 | 00% 1

0 | 00% | 0] 00% |0 00% | 0 | 00% [ 0] 00% | 0 | 0.0% 0

0 | 00% | 0] 00% |1 15% | 1 16% | 0 [ 00% | L | 26% 3

0 | 00% | 0] 00% |0 0.0% | ! 16% | 2 [ 33% | 0 | 00% 3

0 | 00% | 0] 00% [0 00% | 0 | 00% [ L ] L6% | 1 | 26% 2

0 | 00% | 0] 00% |0 00% | 0 | 00% [ 0] 00% | 0 | 0.0% 0

0 | 00% | L] 33% |3 46% | 4 63% | 0 [ 00% | L | 26% 9

0 | 00% | 0] 00% [0 0.0% | 0 | 00% [ 0] 00% | 0 | 0.0% 0

0 | 00% | 0] 00% |0 0.0% | 0 | 00% [ 0] 00% | 0 | 0.0% 0

0 | 00% | 0] 00% [0 00% | 0 | 00% [ 0] 00% | 0 | 0.0% 0

0 | 00% | 0] 00% [0 00% | 3 | 47% [ 0 ] 00% | 0 | 0.0% 3

0 | 00% | 0] 00% | 2 3% | 0 | 00% | 4 ] 66% | 0 | 0.0% b

8 | 100% | 30 | 100% | 65 | 100% | 64 | 100% | 6L | 100% | 39 | 100% | 267
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9 | 180%| 9 |161%| 7 |115% 9 | 105%| 10 | 14.9%| 8 | 163%| 52

0 | 00%| 5 |89%| 2 [33%| 1 | 13| 1 | 15%| 1 | 20% 10

0 [ 00%| 0 [00%| 0 [00%| O |00%| 1 | 15%| 1 | 20% 2

0 [ 00%| 2 |36%| 1 |16%| L | 13%| 0 | 00%| 1 | 20% 5

0 | 00%| 0 |[00%| 2 [33%| 2 | 26%| 0 | 00%| 0 | 00% 4

3 | 60%| 5 89| 4 |66%| 7 | 90%| 2 |30%| 1 | 20% 2

0 [ 00%| 0 |[00%| 0 [00%| O |00%| 0 | 00%| 0 | 00% 0

0 [ 00%| 0 |[00%| 0 [00%| O |00%| 3 | 45%| 0 | 00% 3

3 | 60%w| 5 | 89%| 18 |295% 13 | 167%| 4 | 60%| 8 |163% 51

0 | 00%| 5 |89%| 5 [82%| 6 | 77| 8 |1.9%| 10 | 204%] 34

0 | 00%| 0 |00%| 4 |66%| 13 |167%| 5 | 75%| 5 |102%] 27

0 [ 00%| 0 |[00%| 0 [00%| 0O |00%| 0 |00%| 0 | 00% 0

23 | 460% 6 |107%| 1 | 16%| 2 | 26%| 10 | 149%| 3 | 61% 5

12 | 240%| 19 | 339%| 17 | 27.9%| 24 | 308%| 23 | 343%| 11 | 224%| 109

50 | 100%| 56 | 100%| 61 | 100%| 78 | 100%| 67 | 100%| 49 | 100%| 361
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1 1.8% 6 9.8% 1 1.3% 4 6.0% 5 10.2% 17
2 3.6% 1 1.6% 2 2.6% 2 3.0% 0 0.0% 7
1 1.8% 1 1.6% 3 3.8% 7 10.4% 4 8.2% 16]
2 3.6% 1 1.6% 2 2.6% 5 7.5% 1 2.0% 11
1 1.8% 0 0.0% 0 0.0% 1 1.5% 0 0.0% 2
7 12.5% 10 16.4% 11 14.1% 21 31.3% 11 22.4% 60]
4 7.1% 8 13.1% 12 15.4% 15 22.4% 7 14.3% 46|
6 10.7% 9 14.8% 11 14.1% 20 29.9% 9 18.4% 55
4 7.1% 9 14.8% 10 12.8% 21 31.3% 7 14.3% 51
1 1.8% 2 3.3% 2 2.6% 0 0.0% 2 4.1% 7|
2 3.6% 5 8.2% 5 6.4% 9 13.4% 2 4.1% 23
0 0.0% 1 1.6% 1 1.3% 1 1.5% 1 2.0% 4
2 3.6% 2 3.3% 8 10.3% 4 6.0% 7 14.3% 23
1 1.8% 4 6.6% 6 7.7% 9 13.4% 8 16.3% 28
2 3.6% 0 0.0% 1 1.3% 4 6.0% 1 2.0% 8|
0 0.0% 4 6.6% 0 0.0% 0 0.0% 4 8.2% 8|

- 4 6.6% 2 2.6% 0 0.0% 3 6.1% 9
2 3.6% 4 6.6% 3 3.8% 6 9.0% 5 10.2% 20]
1 1.8% 5 8.2% 3 3.8% 2 3.0% 4 8.2% 15

d £ | 8 Y% O <|| N ~= ™p ™9
0 0.0% 2 3.1% 2 3.1% 3 4.9% 4 10.3% 11
0 0.0% 2 3.1% 0 0.0% 0 0.0% 3 7.7% 5
0 0.0% 0 0.0% 1 1.6% 1 1.6% 3 7.7% 5
0 0.0% 0 0.0% 0 0.0% 0 0.0% 0 0.0% 0
0 0.0% 3 4.6% 1 1.6% 1 1.6% 2 5.1% 7
1 3.3% 0 0.0% 0 0.0% 1 1.6% 4 10.3% 6]
0 0.0% 1 1.5% 0 0.0% 1 1.6% 0 0.0% 2
0 0.0% 0 0.0% 0 0.0% 0 0.0% 1 2.6% 1
0 0.0% 0 0.0% 0 0.0% 0 0.0% 0 0.0% 0
0 0.0% 0 0.0% 0 0.0% 0 0.0% 0 0.0% 0
0 0.0% 0 0.0% 0 0.0% 0 0.0% 0 0.0% 0
0 0.0% 0 0.0% 0 0.0% 0 0.0% 1 2.6% 1
0 0.0% 4 6.2% 2 3.1% 3 4.9% 5 12.8% 14
0 0.0% 2 3.1% 3 4.7% 2 3.3% 2 5.1% 9
0 0.0% 0 0.0% 2 3.1% 0 0.0% 2 5.1% 4
0 0.0% 1 1.5% 0 0.0% 1 1.6% 0 0.0% 2
0 0.0% 0 0.0% 0 0.0% 0 0.0% 2 5.1% 2
0 0.0% 1 1.5% 0 0.0% 0 0.0% 0 0.0% 1
0 0.0% 1 1.5% 0 0.0% 1 1.6% 2 5.1% A
5§|8 Y O-”\/I: o= T™Mp T™MO
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2 11.1% 5 17.2% 3 11.5% 7 26.9% 6 21.4%
3 20.0% 5 20.8% 3 17.6% 47.1% 35.0%
5 35.7% 10 55.6% 2 22.2% 3 23.1% 7 53.8%
5 35.7% 3 10.3% 2 10.0% 32 68.1% 17 43.6%
4 26.7% 3 11.1% 3 15.8% 21 65.6% 15 45.5%
3 21.4% 5 19.2% 4 25.0% 24 77.4% 12 37.5%
2 15.4% 5 20.8% 3 27.3% 20 76.9% 13 46.4%
3 25.0% 9 40.9% 3 27.3% 20 90.0% 14 51.9%
60.0% —
55.6%
50.0% 47.1%
. /l‘\
40.0% ol
35.7% / 30w
30.0% 2220, 26-9%
20.0% 20.8% ; . . -l
200% |  m------- - T SR o
’ L ."‘“-n 1%6% 23.1% —_—
10.0% — 172%
11.1% 11.5%
0.0%
d — <
1 7.1% 2 8.0% 2 11.1% 2 6.9% 0 0.0%
1 7.1% 3 13.0% 0 0.0% 4 16.0% 3 15.0%
1 8.3% 4 22.2% 2 18.2% 4 21.1% 2 11.8%
0 0.0% 1 3.8% 0 0.0% 3 8.8% 2 8.3%
0 0.0% 2 7.4% 3 18.8% 4 12.1% 4 16.7%
1 11.1% 2 7.1% 3 18.8% 6 18.2% 3 13.0%
3 37.5% 2 8.3% 2 13.3% 6 19.4% 4 19.0%
1 12.5% 2 9.5% 2 13.3% 7 21.9% 6 27.3%
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19 37.3% 24 46.2% 37 50.7% 26 40.6% 26 55.3% 132
3 5.9% 9 17.3% 9 12.3% 5 7.8% 1 2.1% 27}
7 13.7% 4 7.7% 9 12.3% 11 17.2% 3 6.4% 34
0 0.0% 0 0.0% 0 0.0% 1 1.6% 0 0.0% 1
4 7.8% 2 3.8% 4 5.5% 2 3.1% 5 10.6% 17
7 13.7% 7 13.5% 5 6.8% 9 14.1% 7 14.9% 35
0 0.0% 1 1.9% 0 0.0% 1 1.6% 0 0.0% 2
0 0.0% 0 0.0% 0 0.0% 3 4.7% 1 2.1% 4
11 21.6% 5 9.6% 9 12.3% 6 9.4% 4 8.5% 39
51 100% 52 100% 73 100% 64 100% 47 100% 2817
15 78.9% 29 60.4% 29 69.0% 22 51.2% 22 73.3% 117
0 0.0% 8 16.7% 4 9.5% 13 30.2% 4 13.3% 29
0 0.0% 0 0.0% 0 0.0% 3 7.0% 1 3.3% 4
0 0.0% 1 2.1% 0 0.0% 0 0.0% 0 0.0% 1
0 0.0% 2 4.2% 1 2.4% 0 0.0% 0 0.0% 3
0 0.0% 0 0.0% 0 0.0% 0 0.0% 1 3.3% 1
0 0.0% 0 0.0% 0 0.0% 0 0.0% 0 0.0% 0
0 0.0% 0 0.0% 2 4.8% 1 2.3% 1 3.3% 4
4 21.1% 8 16.7% 6 14.3% 4 9.3% 1 3.3% 23
19 100% 48 100% 42 100% 43 100% 30 100% 182
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12 29.3% 14 26.9% 19 26.0% 16 25.4% 11 25.0% 72

0 0.0% 4 5.5% 1 1.6% 0 0.0% 5
2 4.9%

1 1.9% 3 4.1% 2 3.2% 2 4.5% 8
2 4.9% 0 0.0% 3 4.1% 2 3.2% 2 4.5% 9
3 7.3% 7 13.5% 8 11.0% 2 3.2% 2 4.5% 22
1 2.4% 0 0.0% 0 0.0% 2 3.2% 0 0.0% 3
0 0.0% 0 0.0% 1 1.4% 0 0.0% 1 2.3% 2
0 0.0% 0 0.0% 1 1.4% 5 7.9% 1 2.3% 7
0 0.0% 0 0.0% o 0.0% 0 0.0% 0 0.0% 0
5 12.2% 5 9.6% 8 11.0% 8 12.7% 6 13.6% 32
2 4.9% 5 9.6% 7 9.6% 6 9.5% 6 13.6% 26

1% 7% 0% 1% 6%
7 17.1% 4 7.7% 8 11.0% 7 11.1% 6 13.6% 32|
6 14.6% 9 17.3% 8 11.0% 3 4.8% 4 9.1% 30)
1 2.4% 0 0.0% 2 2.7% 0 0.0% 0 0.0% 3
4 9.8% 4 7.7% 9 12.3% 5 7.9% 4 9.1% 26
6 14.6% 6 11.5% 3 4.1% 2 3.2% 3 6.8% 20
1 2.4% 1 1.9% 2 2.7% 0 0.0% 1 2.3% 5
2 4.9% 1 1.9% 1 1.4% 1 1.6% 1 2.3% 6
2 4.9% 4 7.7% 4 5.5% 6 9.5% 6 13.6% 22
0 0.0% 0 0.0% 1 1.4% 0 0.0% 0 0.0% 1
3 7.3% 1 1.9% 1 1.4% 1 1.6% 3 6.8% 9
9 22.0% 20 38.5% 18 24.7% 10 15.9% 13 29.5% 70
— n

2 9.5% 2 3.8% 1 1.4% 2 5.9% o 0.0% 7
o 0.0% o 0.0% 0 0.0% o 0.0% o 0.0% 0
o 0.0% o 0.0% 1 1.4% 1 2.9% o 0.0% 2
o 0.0% o 0.0% o 0.0% o 0.0% o 0.0% 0
0 0.0% o 0.0% o 0.0% 0 0.0% 1 3.2% 1
0 0.0% o 0.0% o 0.0% 0 0.0% o 0.0% 0
o 0.0% o 0.0% o 0.0% o 0.0% o 0.0% 0
4 19.0% 4 7.7% 3 4.1% 6 17.6% 5 16.1% 22
5 23.8% 4 7.7% 5 6.8% 7 20.6% 6 19.4% 27
4 19.0% 4 7.7% 4 5.5% 6 17.6% 6 19.4% 24
1 4.8% 1 1.9% o 0.0% 1 2.9% 0 0.0% 3
o 0.0% o 0.0% o 0.0% o 0.0% o 0.0% 0
2 9.5% 3 5.8% 2 2.7% 5 14.7% 5 16.1% 17,
1 4.8% 1 1.9% 2 2.7% o 0.0% o 0.0% 4]
0 0.0% 0 0.0% 1 1.4% 0 0.0% 0 0.0% 1
0 0.0% o 0.0% 1 1.4% 0 0.0% o 0.0% 1
0 0.0% o 0.0% 1 1.4% 0 0.0% o 0.0% 1
2 9.5% 1 1.9% 1 1.4% 3 8.8% 5 16.1% 12
o 0.0% o 0.0% 0 0.0% o 0.0% o 0.0% 0
2 9.5% 8 15.4% 7 9.6% 5 14.7% 7 22.6% 29
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4 25.0% 12 25.0% 8 19.0% 12 28.6% 4 13.3% 40
o) 0.0% (0] 0.0% 2 4.8% 1 2.4% 1 3.3% 4
[0} 0.0% 2 4.2% 1 2.4% 1 2.4% 2 6.7% 6|
1 6.3% 2 4.2% 1 2.4% 1 2.4% [0} 0.0% 5|
o 0.0% 13 27.1% 5 11.9% 8 19.0% 3 10.0% 29
(o) 0.0% 1 2.1% (o) 0.0% (0] 0.0% (o) 0.0% 1
o} 0.0% 1 2.1% o} 0.0% 2 4.8% 1 3.3% 4
(o) 0.0% 2 4.2% (o) 0.0% (0] 0.0% (o) 0.0% 2|
o) 0.0% (0] 0.0% (o) 0.0% (0] 0.0% o) 0.0% 0|
(o) 0.0% 8 16.7% 1 2.4% 2 4.8% 3 10.0% 14
o 0.0% 3 6.3% o} 0.0% 2 4.8% 1 3.3% 6|
o 0.0% 4 8.3% o 0.0% 1 2.4% 1 3.3% 6
3 18.8% 9 18.8% 5 11.9% 11 26.2% 1 3.3% 29
(o) 0.0% 2 4.2% (0] 0.0% 1 2.4% (o) 0.0% 3|
o} 0.0% 4 8.3% o 0.0% 1 2.4% 1 3.3% 6|
1 6.3% (0] 0.0% (o) 0.0% 1 2.4% o 0.0% 2|
o 0.0% (0] 0.0% o) 0.0% (0] 0.0% (o) 0.0% 0|
o 0.0% (0] 0.0% 1 2.4% 1 2.4% o 0.0% 2|
o 0.0% 1 2.1% o} 0.0% (o] 0.0% 1 3.3% 2
o 0.0% (0] 0.0% o 0.0% (0] 0.0% o 0.0% 0
2 12.5% 1 2.1% 3 7.1% 5 11.9% 2 6.7% 13
o 0.0% 3 6.3% [0} 0.0% 4 9.5% 1 3.3% 8|
n
o) 0.0% 1 2.1% 1 2.4% 2 5.9% o) 0.0% 4
- - - - - - - - - - 0
- - - - - - - - - - 0
0 0.0% ) 0.0% 0 0.0% ) 0.0% o 0.0% 0
) 0.0% (0] 0.0% o 0.0% (0] 0.0% 2 7.7% 2
[0} 0.0% (o] 0.0% [0} 0.0% (o] 0.0% [0} 0.0% [0}
o 0.0% (0] 0.0% 0 0.0% (0] 0.0% o 0.0% 0
(o) 0.0% (0] 0.0% (o) 0.0% (0] 0.0% (o) 0.0% [0}
() 0.0% (0] 0.0% () 0.0% (0] 0.0% (0] 0.0% [0}
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